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Use HB pencil throughout,
Use of mobile phone is not allowed.
Use of scientific calculator is allowed.,

All diagrams are not drawn to scale.

Take 7t to be 2 except otherwise stated.

Where your answer sheet is not customised, provide the following information:

(@) In the space marked Candidate’s Name, write your surname in capital letters

followed by your other names, :

(b) In the space maked School Name, write the name of your school, and in the Space
marked Subject Name, write General Mathematics I, !

(¢) In the box marked Subject Code, write the digits 1023 in the spaces. There are
numbered spaces in line with each digit. Shade carefully the space with the same
number as each digit.

(d) In the box marked Registration Number, write your registration number in

the spaces at the top of the box. Shade the corresponding numbered spaces in the
Same way as for Subject Code. :

An example is given below. This is for a candidate whose name is GAMBO Bamidele

Uche, with serial number 0010, registration number 87654321008
taking General Mathematics I11 (1023),
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PAPER 111
Answer all questions.

Each question is followed by five options lettered A

question and shade in pencil on your answer sheet the answer space that bears the same letter as

the option you have chosen. Give only one answer

answer you wish to change. Do all rough work on this question paper.

An example is given below:

The product of three numbers is 3876. Two of the numbers are 17 and 19. What is the third

number?

A. 57
B. 12
@: 6
D. 3
B 2

The correct option is ‘12’ which is lettered B. Tt
shown below:

to E. Choose the correct option for each

to each question and erase completely any

herefore, answer space B would be shaded as

[A] 8] (€] (D] [E]
Ik Express 384.126 to the nearest 4. Simplify (4V3-6)(4y/3 +6).
hundred. } ‘ e
i 3 89—‘]26 — 4_@ 12 601(11(%4.36:[; /;tmcmmt/ @wcl
PERETT Y — = (i3
® 0] B. 4 |2 (i3 -6) iz +¢)
C. 384 | : '
D 380 Cow il o oins tae
E. 300 D. . = 4836
.7 -If A = {natural numbers between E. V3 | =12
3 and 15}, find n(A). =
A 15 | n(A= 4,5 6, 7 4 9/ (0,11, 5. The third term of a Geometric
B. o 12,15 ch}l 14 Progression is — 5 and the seventh
C: 13 i 4 term is — 80. Find the common ratio.
D) 11 [=n(A)= #
9 10 | ) I/"/‘— .7 40 LV OF e 2 :
| B. 8 :—’>§yc] f‘erm:' qr ::_——5 ;
3 Evaluate 3241 jive — 1342ﬁv:-@ C 5 — gr*= -5
o = D. 3 ' i
s, 234lnw ?@;4_ 1@ L B2 Q===
(B) 1344w | “B - L5
. l342|’|v¢ L l Z7 L’_ 2_ % q = rl s (’L‘)
D. 1324y : i
B 120, FH ferm = Ay’ =-580

$_> a = 7:’_;1:2 Aas (’;ﬂ’) /
(o g beth alions
‘ ’)akgq ZIM 60

<50 . 5 .. -

Yz"ré}

2 h=lb; Sr=4iE

= 2.
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6. A man with an annual salary of 10. In a class of 80 students, every i
¥1,300,000.00 is to pay an income student studies Mathematics or
tax of 22%. Calculate his tax, if his Geography or bqth. If 65 students
allowances amount to ¥137,000.00. study Mathematics and S0 study
lncome tar s Geography, how many study both
A. MN254,760.00 | Salary - Allewance subjects? | M oA
®)  3255,860.00 | kbt 300, 000— ol i
C. N258.860.00 )37 000 A, 45 | (667%x 50
D.  N350,140.00 |=##7 43000 B) 8s .
E. - N907.140.00 |34, _ 229X C.- 30 |=b5-xtxtBo-X= :
A6z, 010 D, . 20 5 =22 = 80
7 A wire of length 25 cm was 100% E. 15" i = = BF
= x =15-80 ; 2 = 35
measured by a student to be 24.4 cm. : -
Find the percentage error. 11.  The 11th term of an Arithmetic
/ exror = CHret XIUL/ Progression is 63. Find the first
A. 4.4 el e term, if its common
thwd (d/l?/)f 5 :
B! 34¥ difference is 3.
%‘) 24 |errer =25_ 244 06 T, =a+ (n- e
E. 14 ]%‘75‘4”“ . C éQXIUUL/ g 2§ éa;— = O (l/"/)%
| =24 J C. 35| é5=4+30
8. How many years will 312,000 (@) s = g =¢3-30
saved in a bank amount to E. 30 =32
12,960.00 at 2% per annum simple =
interest? | 'A’Mcu:ff: I + P 119 Evaluate 15®26 in modulo 5. 4
A. 6|2 M(29%0 =T + %2000 0l(imod'5) 15 @26 (nwcclﬁ) ’.
f
B. 5 |T=&960 B 1 (mod 5) 15 ®z26 = 390 :
© 4|27 PAT . , Gpo= 2 12,720 G Dot
Do = D.  4(mods5) ’> 5‘7‘7, 7 Rem-0
E. L 34,000 101*7 E. 5 (mod 5)
b=t i —i> /§®ze o(medg)
9. Rationalize ; 13. Solve 2°% = 165, .
V2+y3 ‘ e 63/4 )
A & i ’“_/ e
SZ +¥3) L Y 15 Same Loie. |
C. 5(vV2 —=V/3) D. 2 > s b
D as @ —> 2?" /2'*
E. V3+2+5 :
i . \ e L e
V23 » | —3_7 9= ,
Bicatals. , Shiicg off Hhe simita boy,
\fi-i-\ﬁ \‘3"‘,3 , on’ Md BTk
= 5(!/5.—\'J) ' - : = 2’3 "—12
C } t ' \ s -:é'ﬁ"'.:z -
l = 5(\[’ V) muthply Ly +
= 5Nz+v5)
=




14. ~ It Olu, Tony and_Tunde share s [ 2 e = 2 3.
N240,000.00 in the ratio 2:3:5 e [ 3 1] s [2 1], a g =t
respectively, what is two-thirds of find PQ. P = E’” ';H:)'g 10
Tunde's share? ] Total radvs= /0 . 1] e
E 5 A. 2
A, N120,000.00 unde = 2 (4240 ls 10 \ a,=( 2 ‘j
B.  80,000.00 = ’_1:"”,@ 21 i
C.  N72,000.00 o B 5 1l e = *ZX_L/Z
D. ¥7,.48,000.00 | j iz G -2 1. (G = (-1 27(?]
E.  %40000.00 |5 (®120,000) - [T 10 — %3 2=
- =#840,000 -2 -

15.  Arrange the following fractions in D. [ g 1(1)] 4, = ( D) G]
ascending order of magnitude; —6+2 =9
203745 4. 3 271
e @ [8 10] ]qzz =12 D[i;)

“ = g4 =10
i’.3_ SIS 2 18.  Evaluate logs16 + logi27 — logs4096.
157%10” 12° 5’3
Lﬁ“j’—f— £ lenz’—1eg 8"
3 5,3t 2 d
B. I wss S Of b
T ) e ézc‘]‘fﬂjf 4—[38
C w1053 el
oo 32 © 1|720+F ‘}" ()
; 1528122858073 D. 2 :”>Z+é- 4_
; 3t 5% 127 15 40 E. G
X N Sx

16.  Find the values of x, y and z _ - 19.  Solve the equation— — == 12
respectively for which
£ R ¢ =l 4 A. o | axX 7 . ar

9 5 e
A 6d ) . -3 | (242 ZOX?‘) (‘5"_’%
 (4,6,3) &
@ (6,3, 4) C : 55 :
DE  (B5476) = h8x — 4O =25%
E.  (4,4,6) e ’>4 ‘ Lf 2
e 4262 = (o
o B b 12 B 621 2% = 140
= x = 140
‘ e, : : 2%
Wl g Y=g b < - =
2
é;;\%nglhé/i
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20, 1ffx) = 3x* - 9x =, find -3)- 24, 1ff (gt:) 2 fraggo?f x el ,
: e : e othe ; .
a5 [D=3(DD)E : Faclas will ks e
B. 5 = 3(4) +2F -5 (x-2) | equation 12 Jr< gm%%‘;
€. 27 7 +22 B. (x = 6) | Theseforey w‘fifl‘ :fln
E: 54 = g’_ D. (-Y""g) ¢ 4;—;;-)1,:01/
—— - 2
E. &40 c;x=6; (14912
2 e Find « in terms of fand v in the . k . Bbtay-i2=
598 e & 25, Calculate the mid-point of the line
rclation; s joining (8. = 3) and (=2, 3)- 7y
ol el e L e\
A. ll—(u_//) /v 'f- > B (0, 5)) 614”([%4 Q%U M/
v J'IIV::Z‘(:T-UI /J”%)".J“ @ (3,0) X422 Cpmcl 4«4‘4’5&
B. u —(f-v) (:’f #u: Cr}l(f% efls D; (9,3) '_Z__J_ ,_2-.,
) E - (0 | gra g -343_00
|y = "0 | Bt2a3) 2
(w+/) > 0= —V 26. Calculate the gradient of a line (3, 0)
@ Bibg s 'V joining the points (=2, — 5) :
: “To-1) |Same as U= —&tv—:;’) and (4, 8), correct to 1 decimal place.
| s Y, —
B u= /U_ lq.e: £-¥V = e .. S e ) &I@JL%+M:£2_‘_¥L
2(f+v) [ (\,_{,) 5 e <, —Z
' > Vé— o f ; ; é/\,’: - - —<
20 Find the quadratic equation whose @ 22 4_(,2) [
rootsare -1 and 5. | ,/,x}]/,, the frm,u. k E 2.1 = 2.9
) |2 (4P e
A xadr=01 o 7 'P) %f) 27.  Given the statements:
= =0lx ( +2)7"+(' :
B. e i %5 p: All terrorists are guilty
C. gt § . 2 g: All terrorists are criminals
By ¥ +4x-5=0lge—(4)> +(-5) Write the following statement in
Hlax thT5 0! X fre —B=0 symbolic form; “All terrorists are
‘ e not guilty but criminals”.

23: The product of two numbers is 40 3 s 7
and their sum is 13, find the N o “PV? 5 &#‘w. W:-;j:’
e ek, lét Hhe fivo murbes B, - phg A _ |

P 0 /)c 2 and Y+ /Am - - ; ¢
A Zanj§ Jopx Ll C. PA=1 | pAq s Conclise o
B. 2 an 12:40/' x{g:[é D 30 URN{ 21 : T’
C. 4and 10 B ' p ‘!_Sj)ca-fném/‘f{_z?mm.
D. 4 and 8 f”m"c“f’lé pAg , : .
€) S5and8 Y=fze , ¢
s gttt 5 ,\_Ip,\i—:/w kkrmu/;%ﬂof
Mﬂrﬂfw‘j wites) Wid W 4everigh are
fﬁc i;w[tw'l ér ?) rerisfs are
e B p
o
S B -X =40 Firom the ?w/fwo. Ml Feivorists are pot
Sx*-132+40=0 gwg, but Crimionals” : T
Z()’fsgir 55) And () can be wed £ represeit the bu
g8 3 e e Spedfc n e octuct o et
| Whils. ov (V) & edhor WS |




1 2 1
x e 4 31. Find the roots of the equation
28. Simplify ~ 3, ()L“La) '(’” z) 8x2 —6x —9 = 0.
2
Y l— v .. 7'} }" /;-‘, '-‘-‘:- “
; 2(3x +1) ;‘+’ — 9“‘*”2; Al I e B —épe -7=C
e L 2% +i 20 T8 e o
3(2x+1) 3 & b5 , Ex +122¢ = x —[=C
B 2+x S 2 B. 30 ;Af'qﬁ)\ 5 3) _.Lzl(/;_»,‘ b’):o
. Sy g}__L)(——‘? ; (41—;),) f’)’C\
. 2 ~;+l (814 x—-or-3- (PL- - j
. e =3 —i = I =,
< x-1 = Z(QX'H) =373 ZL') / 2
e @ 2 (XCE0E
o 3xH1 2(2% H) Za '*7 > &0 = ev =
2x-1 _— EEE g = e =
2 2 4
Exide s 32.  Expand (2x — 3)(3x +4).

62 -17x—12 | b +§x P -2
62 —x—12 A e
6x2 —x+ 12 SO =t
6x2+x—12
6x% +17x — 12

29.  Find the equation of a line whose
gradient is 6 and y-intercept is =7.

y=8+7x Us”'”’ ﬁxfmm

A. -
B. y==7—06x "/le'f'c
C = 7— 6x £ / 5
‘ y==7+6x g = éX— %—C ?) 33. The difference between the present

m o o>

y=7+6x g — bpe —7 ages oft.wo brothers is‘ 6 and their
S Ly proFiuct 1s 135. What is the sum of
30.  Find the sum of the r&ots of the their ages?
quadratic equation
2—5x+6=0. éi/.-\ %Z
Y e et Gzt
S : D. 21
5 Q(ﬁ?;é?(’lx“'élo E. 15
C. =2 .
o = o 71
ED. _g = é 5 Z\Z/—#K %wngc,r e Ac ’XZ
_>§ = ‘ff\auffw(?{l‘to‘)auzi'é

= fleir /Méquos x(x‘l—é)—- 35
= oteE 2 Hox - (35=0
= X U35 =0
XL +15) -+ 18) =0
= (&%) (e+1§) =0
=> 292D or XA+ |f=0
o nd N e U
= x=9 awld fhe oo qac i G-
N 6%@«%"/%412 .
Hhhe Fum = THIE= 24 .
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34 'In Fig. 3.1, PQS is a circle with 36.

centre O. RSTis a tangent at S and
< SOP = 120°, Find ~ BST:

e

Fig. 3.1 ASep s (Sesceles

® o |>éor=1(sn-1z0)
3 ; ek %OC
C. 35 L &
D. 31° /L&\S( — Cio(_L%Qn YQJ‘«:J)
B 29°

= Z.PST: 70—56
— 60" 37
8ISk in Rig=3.00 4" B, C and D are points
on a circle with centre O. BA is
produced to M.
If £ MAD = 82° anq £ ADO =174°,
find £ ABO.

38.

24° ‘
o
82°
98°
164°
o (it 2o cutlic
g @Z‘Lﬁ“ el ity
eﬁ?i L> % %w’
L&OD = ZX%2 (£t C@f@ ¢ 1Wice
=i Laal &rmfam)
LDAb= 1805, (4 en ?vo:ghﬂ@ |
=98
=L AB0=360 —(?4+I(rt++‘?8>
=260-326= 24

AN )

Calculate the area of trapezium
ABCD in Fig, 3.3,

HigS3is i : 1
A. 27 emg Ares Ezf”/-l’@%)t“gmm %h(h“) |
é 22 ST N = [aXGnze =X o5 =6
- 28I ) 0 e N
- m =3(24)
A boy walks 4 km due West. He e ?ﬁq

then changes direction and walks on |
a bearing of 214° unti] he is

South-West of his starting point,

How far is he from his starting

point? Correct your answer to one

decimal place, /

A. 5.1 km
B. 8.3 km
(@} 11.1 km

D5 N 2l

S

ém ~ Sl ) D=
Two points P and Q lie on the same :

great circle. P is on latitude 70°N
and Q is on latitude 55°N. Calculate
their difference in latitudes:

15°
B oie
C i
D
B, idose




39. A bird which is on top of a building
35 m high observes a prey 25 m
away from the foot of the building.
Calculate the angle of depression of
the prey from the bird.

g
AL 75002

~B.  60.00° 35m

© 46 Pongle of Dep> =X
D... 3525 g or
B 000y A Tead=oe =l

~7_;~ J:Te;'ll“:—-_r;q_r" 43.
40. Calculate the length o; an arc w{{ﬁc‘}'{ °'¢Z—

subtends an angle of 66° at the centre
of a circle of radius 8 cm, correct to
one decimal place

3.4 cm

A. “

B. 512 ey 2= 5L ‘zxg»nfz)(g
€. 74cm |3 h
92cem | Z2(9-00F _

41. Find the value dfy in Fig. 3.4.

1232

Fig. 3.4

48°

S
[1058
1827
198°

m©o w >

(W

L ABe = (80123 (bl )

= 57°
=
-. : g ,,:_1520

—_—

ZC’%*I#‘ ‘7( art 3—9;'—0‘277?

= FE+5F (e/i& ﬂn’g@

42.

2 on |l -—7‘2cm 44,
L B

—

45.

The base radius and height of a cone
are 4 cm and 6 cm respectively.
Calculate its volume, correct to the
nearest whole number.

g | Velome o Cone' ST
C. 98 cm’ 2.%% //rhp‘;‘f X

2 10l cm?® | = B61-FZ
? 10em? | w = 06

2 ¢ L elelar
Find the distance between the points s
(3, —4) and (=5, 2).

8|\ &’1;‘745"(;\ td £}

16 v -
4 |59+ ()
10 \v’(‘g)i+éz / \Ié‘!-f% :LD,

Calculate the surface area of a sphere
with diameter 10.4 cm, correct to
3 significant figures.

(Take = 3.142) - 7
SLL(/ﬁCH_ onci 5F ‘fﬁm

@oow>

A. 439 cm? //‘77)’2
B. 400 cm? 5 ’

@ 340 cm? b=% z:jvimj;,k =5 X104
D. 339 cm? | o
B 3ot | DS A= uaxe

: = 34.0cm=2
Obi walks 400 m to the top of a hill

which slopes at-angle 30° to the
horizontal.” Determine the height of
the hill.

A. ~ 430m
B.  400V3m
G 200v/3 m
@ 200 m I(] = 451;— % 30
E. 100 m B ;
) : = JLrX 05
= 208eM
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54.

55:

Calculate the variance of the . 56.
following set of numbers; . == 188 -3
30, 28, 35, 25, 37. 2
B
A 3p0lXix=lMd 2 <)
5 251 )_7;':)‘ -4 Bé VQVJ'-T
(@} 19.6 |43 |—2 C[ -1 1(2 ,
D.% 195 [igel= | ?1;']] :Zg
E. 153(3] 4 lie e
37 L 36|20 =%

}f the tickets numbered 1 to 16 =
inclusive are mixed up and a ticket is~ 6
drawn at random, what is the

probability that the ticket drawn is a

multiple of 2 or 3?

/ tole L/"(L[Ldvx;d ={,2 S
4/2,6,78 916,12, 13,14
b cud e
Mathples 4 2=24) 6516
/na//L/w #o= =369

| = Muth 2%8’
_>’Ylu, W‘% 3 a9

B
C
D
@ 16 —>/9/”/U/f ‘12%3) 84-»:_.

A.

H R IR ol NIR R
lwmlu' Io\"-"

The following are the lucky numbers 4 '

in a raffle draw; 4, 5, 12, 20, 2, 8, 3,
ORI0R9 7SN 2 5108 14527

If a number is picked at random,
what is the probability that it is a
perfect cube”

/ cjcule«m
#fw. M%/W’”b&”%
& ond Z?an((j

= P(fav#d’(u[st)" T

-—
—

s
3
£

@I~ ©o|lw :|\1 Sl gl:

it
A. =
12 _-3
. l P(f} un(( l"ﬂn b /—r’f{) -—X < a/
8
1 l)&(h LL'ﬂ //f.‘;fl’«u m n A’—’ﬁl (,(T\-h;)
C il 2 i J
6 i} e o | e
e B
= . e
D'. 4
1

S

The probability that it will rain in
Lagos and Oyo on the same day are 7

3

and 3 L respectively. Find the

probability that it will not rain in
both towns on the same day.

Table 3.1: Ages of students

Age (years) | 16 s ]blg [ =]

No of students B | P8 e, | 16 |

Table 3.1 shows the ages of students
in a particular class. What is the
probability that a student chosen at
random is bless than 18 years? '

Sapple Sface § = l}-*"f+e—f8

o % /D(W 7‘f'vm /3)’
B =
& _n
@ I8
E, L | 2’—
.3
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Use the information below to answer 60. Find the acceleration after
questions 58 - 60. 12 seconds.
A particle moves a distance of S metres, A. 400 m/s*
where S = 5-12/2 + 7. B. 360 m/s’
S e e G, =~ 336 mjs'
; : uv:lsazglmoe 1S 1ts acceleration D. 300 m/s?
Dol E..  180m/s
A. 0.8 sec
B. 1.2 sec
€. 1.6 sec
D. 2.0 sec
E. 2.5 sec

59. Find the velocity after 3 seconds.

A 70 m/s
B. 63 m/s
C. 50 m/s
D
E.

40 m/s
30 m/s




